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getwd()
[bookmark: _GoBack]## Code for ANOVA
## Import data from working directory
data<-read.csv("Data_Holloway_Field.csv", header=T)
## Specify variables as factor
data$county<-factor(data$county)
data$type<-factor(data$type)
data$level<-factor(data$level)
## Split data into rock and pool substrate
data.rock<-subset(data, habitat==1)
data.pool<-subset(data, habitat==2)
## Run three way ANOVA â€“ example for algae
rock.SR.algae<-aov(SR_Algae~type*level*county, data=data.rock)
rock.AB.algae<-aov(sqrt(AB_Algae)~type*level*county, data=data.rock)
pool.SR.algae<-aov(SR_Algae~ type*level*county, data=data.pool)
pool.AB.algae<-aov(sqrt(AB_Algae)~type*level*county, data=data.pool)

## Code for DCA
require(vegan)
## Subset just the species data
data2<-data[,c(23:103)]
## Remove all rows with no observations in as DCA will fail
data2<- subset(data2, rowSums(data2)!=0)
dca<-decorana(data2)
## In this dataset, there are two rows (54 and 55 with no observations).
## Get corresponding environmental variable centroids
env.data<-data[,c(4,6,8,10)]
## Remove rows 54 and 55 to match
env.data<-env.data[-(54:55),]
## Re-specify variables as factors
env.data$county<-factor(env.data$county)
env.data$type<-factor(env.data$type)
env.data$level<-factor(env.data$level)
env.data$habitat<-factor(env.data$habitat)
## Fit an environmental factor onto the ordination
env.fit<-envfit(dca, env.data)
## Plot the results with environmental factor centroids
pl <- plot(dca, dis="sp", type="n")
sel <- orditorp(dca, dis="sp", pcol = "gray", pch="+")
with(env.data, ordiellipse(dca, county, kind="se", conf=0.95, col="blue"))
with(env.data, ordiellipse(dca, level, kind="se", conf=0.95, col="red"))
with(env.data, ordiellipse(dca, type, kind="se", conf=0.95, col="green"))
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## End Code
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